ECE 627
Midterm Examination
May 9, 2014

Open book

1. In the DAC shown, the opamp is ideal, and V=2 V.

a. Find the input-output relation of the DAC.

b. What are the LSB voltage steps in Vou:?

c. Is the DAC monotonic?

d. What will be the values of the voltages V; and V; if the input word is 117

e. Find V. if the opamp has a gain of 60 dB. (Difficult, for extra credit only!!)
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2. a. Find the STF and NTF of the AS ADC shown. Use H(z) = z%/(1-27).

b. What is the value of |[NTF| at dc, and at f,/2 ?
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